Tk 2B=2D.
5.f%. (1)UEM : A4 CE=BF,
fifl CE+EF=BF+EF, Rl BE=CF.
TE AABE F1 ADCF H,

AB=DC,

AE=DF,

BE=CF,
FrA AABEx> ADCF(SSS).
Lk 2B=2C.
(2)H(1),75 AABEx ADCF.
fiif LA ~ AEB= 2 DFC=30°.
Frl 2 BAE=180°- ~B- L AEB=

180°-40°-30°=110°.

[H} AF F-43 £ BAE,
iy LA LBAF:% LBAEZ%XllOOz
55°,
% 2 iRAT

1B ZAME—, 40 L ACB= 2 DCE
2.3EBA . A >N AE=BF, it LA AE+
EF=BF+EF, HJl AF=BE.
% AC//BD, Lk 2~ CAF=/ DBE.
TE AACF Fl ABDE H1,
AC=BD,
/CAF=/DBE,
AF=BE,
FrA AACF« ABDE(SAS).
Jrk CF=DE.
3B (DIEW KA 0 LK
AB By A, BTLL AO=BO.
A% oD//BC,FTlk ~ AOD=~ OBC.
TEAAOD F1AOBC H,
AO=BO,
/AOD=/0BC,
OD=BC,
JF L AAODx2 AOBC(SAS).
(2)M(1)H AAOD= AOBC.
Lk 2 ADO= £ OCB=35°.
[X*4 OD//BC,
Frll 2 DOC= 2 OCB=35°.
3~4 ki
— JEES
1~5.DBBAB
ZETE
11.19
12.AB=DC

13.85°

14.6H@

154 S AME— , Wl AE=DF 5% . B=
/. CH{AB//CD

16.23

17.140°

18.(-4,3)8%(-4,2)

= BER

19.iEBA ; A~ BE=CF,

il BE+EC=CF+EC, |l BC=EF.
TE AABC I ADEF #,

6~10.BDBAB

AB=DE,
BC=EF,
AC=DF,

fif L AABCx2 ADEF(SSS).

fifrl ~ ABC= 2 DEF.

20.f% . i,

F

1E A
(% 204 H)

ADEF B R faR.
21.%#.(1)AN ABADx2 AACE,
Frll AD=CE,BD=AE.
[A°& AE=DE+AD,
Jir 2k BD=DE+CE.
(2)%4 ABAD i /& 2 ADB=90°H],
BD//CE.
22.4ERA. (1)7E AABC F1AADCH,
AB=AD,
AC=AC,
BC=DC,
Bl AABCx2 AADC(SSS).
Frll ~ BAC=/DAC,
B AC 43 £ BAD.
(2)#1(1),74 ~ BAE= L DAE.
TE ABAE 1 ADAE 1,
AB=AD,
/BAE=/DAE,
AE=AE,
Jr L ABAEx2 ADAE(SAS).
Frll BE=DE.
23f#.(VDIFN £ ABE=162°, ~ DBC=

D T

30°,
FrA 2~ ABD+ 2 CBE=132°.
A& AABCx2 ADBE,
Bl ~ ABC= 2 DBE.
Bl £ ABD=2 CBE=%><132°=66°.
(2)IH5 AABCx ADBE,
fff A DE=AC=AD+DC=5,BE=BC=4.
fir LA ACDP 5 ABEP [ 4 =
DC+DP+PC+BP+PE+BE=DC+DE+BC+
BE=2.5+5+4+4=15.5.
248% . (DUERH : Aok BE -4 2 ABC,
Frll ~ ABE= 2 DBE.
TE AABE #1 ADBE 1,
AB=DB,
/ABE=/DBE,
BE=BE,
Bl AABEx ADBE(SAS).
(2)H 4 2 A=100°, £ C=50°,
Frll 2 ABC=30°.
4 BE *F-43 £ ABC,

it LA 2 ABE= LDBE=% £LABC=
15°.

TE AABE ', L AEB=180°- LA -
£ ABE=180°-100°-15°=65°.
25.%% . (1)ER] : A% DB /& AC i1
e,
ffA « ABE= 2 DBC=90°.
TE AABE 1 ADBC 7,
AB=DB,
/ ABE=/DBC,
BE=BC,
fIfA AABEx2 ADBC(SAS).
(2)BM=BN,BM L BN.
JERUNF : 1 (1)F1 AABEx2 ADBC.
LA 2 BAM= 2 BDN.
TEAABM FIADBN H1,
AB=DB,
/ BAM= 2 BDN,
AM=DN,
FrA AABM=2 ADBN(SAS).
ffA BM=BN, 2 ABM= 2 DBN.
fif LA ~ DBN + ~DBM = £ ABM +
£/ DBM= 2 ABD=90°.
LA BM L BN.
26.f%.(1)EF=BE+DF.
(2)4516 EF=BE+DF 1/34R i 7.
P - A SEK: FD 34 G, DG=
BE, % AG.

(% 26 M H)
A& 2B+ L ADF=180°, L ADG +
£/ ADF=180°,
JrLh 2 B= 2 ADG.
TEAABE f1AADG 7,
BE=DG,
/B=/ADG,
AB=AD,
fIfA AABEx2 AADG(SAS).
FrA AE=AG, 2 BAE=Z DAG.
ﬂﬂLEAFz%LBAD,
Fll £ GAF=£DAG+/ DAF=2 BAE+
£/ DAF=/ BAD- Z/ EAF=Z EAF.
LA 2 EAF= £ GAF.
TEAAEF FIAAGF H,
AE=AG,
£ EAF=/ GAF,
AF=AF,
FTA AAEFs2 AAGF(SAS).
JrLk EF=GF.
[A A FG=DG+DF=BE+DF,
FrA EF=BE+DF.
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F1H
2 hi
11.1.1 =HRmEREL
1D 2B 3C 4.l<x<4
5.2a-10
1112 =S P&E5RFETE
1.C
2.5 . (1)WE LB AD BISM IR,

3D

11.1.3 =fREHREN
1B 2B

11.2.1 =RENA A

1.C 2C 340°
4f#.KA°5 BD LAC, L CBD=30°,
Lk 2 BCD=180°-90°-30°=60°.
K24 CE V43 2 ACB,

FiLL LACE:% / BCD=30°.

R 2 A=69°,
Al £ AEC=180°- £ A- LACE=
180°-69°-30°=81°.

5.C

6.C

3~4 fiR

— EES

1~5.CBCCB 6~10.BCDBA

Z B

RN 1246

135 14.50°

15.6 16.115°

17.2¢ 18.100°8%, 130°

= BEH

10.f% . RN =ML a=3,b=
7.5 =M N c,

FrUARIE =ML = e &R, olfs
4<c<10.

KRS = ¢ AR ML,

Fril c Bt 6 2% 8.

ML KM . 6+3+7=16 BY 8+3+7=18.

20.f# . [N A AD 2 AABC BY &,

LA 2 ADB=90°.

[X4 BE *F-4r LABC 22 AD T/ E,

L 2~ ABE= 2 EBD.

[A°& ~ BED=64°,

ff LA 2 EBD= 2 ABE=26°.

fF LA 2 ABD=52°.

Frll 2~ BAC=180°- ~ABD- ~C=
180°-52°-76°=52°.

21 i AR PA AP G«

(1) 4K J2 8em AR ERT, =314
£} 8cm, 8cm, 2cm, FENE =M IEAFAE

(2) 4K 2 8cm ML BIRIAT, =
HEh 8em,5¢m, 5em, SIE = MAILLEAE ,

IR B 2 5em.
O 2 8em BY 5em.
22.5% . (WA,

A
D
B
c n E

(%* 22 AH)

(OTEAABFH, L AFB=180>- ~ FAB-
£/ ABF=180°-40°-100°=40°.

[X} CE LAB,

Jf L 2 BEC=90°.

[A°& ~ ABC=100°,

Jiff Lk ~ CBE=180°-100°=80°.

FIi LA 2 BCE=90°- ~ CBE=90°-80°=
10°.

23.f&. (1) A K (a-b)*(b-c)%=0,

fr A a-b=0,b-c=0.

fir LA a=b=c.

fIT LA AABC &% = fMIE.

(2)AH a=5,b=2,

JIr A 5-2<c<5+2, Bl 3<c<7.

Hh ¢ MEEHL,

fiLA ¢=4,5,6.

F L2 c=4 B, AABC JA 1
/IME=5+2+4=11;

24 c=6 I, AABC i K iR Kl =
5+2+6=13.

24.%%.(1)N M ~B=35°, LACB=
85°, AIrl ~ BAC=60°.

K> AD ¥4 £ BAC,

il 2 DAC=30°.

Frll 2 ADC=65°.

N K 2 DPE=90°, it £ E=25°.

(2)IE . (K24 ~ B+~ BAC+ 2 ACB=
180°,

ik 2~ BAC=180°-( ~ B+ ACB).

[K°% AD 43 £ BAC,

1

fif LA ~ DAC= £BAD=+ £BAC=

900-%( / B+ /ACB).
fifLl ~ ADC=180°- / DAC- / ACB=

8\ 3@ O

180°—90°+%( /B+/ACB)-/ACB=90°-

%(LACB—LB).

K>~ PE L AD, LA 2 DPE=90°.
fif LA £ ADC+ £ E=90°.
frlk ~ E=90°- L ADC,

EﬂAE=%(AACB—AB).

255 . (DIRIE =ML =R 18
(2m+1)+(m-2)>8,D
(2m+1)-(m-2)<8.%2

fi#AS 3<m<5.

(2)H R AABC B =i 34 A 3%k,

JIT A m=4.

fir LA AABC B JH K =m-2+2m+1+

8=19.

(3)24 m-2=2m+1 i,

RS m=-3(ReHME 4 %);

24 m-2=8 i,

fi#S m=10>5( R M & 4% );

4 om+1=8 I,

1% M=t

JirLA#5 AABC NEE=FTE ,m=

7 3

o )=
2,J~Jm2 >

@m,%%mmmﬁﬁ%w%m

26.f#%:(1)125,90,35.

(2)5548 . 2 ABP+/ ACP=90°- L A.

i . fE AABC H', L ABC+ L ACB=
180°- L A.

& £ABC = LABP + ~PBC,
/ ACB=/ ACP+/PCB,

fiF L (L ABP+ 2 PBC)+( £ ACP+
£ PCB)=180°-ZA.

Frd ( LABP+ £LACP)+( LPBC+
£ PCB)=180°-ZA.

X HHTE RtAPBC H, £ P=90°,

fifA 2 PBC+ 2/ PCB=90°.

Fr A ( £ ABP+ £ ACP)+90°=180° -
LA.

FrLA 2 ABP+ £ ACP=90°- Z A.

ML AT, £ A+ 2 ACP-

£ ABP=90°.
FE 24
2 ki
11.2.2 =RFERIIN
1A 2B  3.70°
4.15°
5% (1IEM Ik CE 4 £ ACD,
FrLl £ ECD= £ ACE.
[K% ~ ABC=~ACE,

F1W



FrLl 2 ABC= 2 ECD.
FrLl AB//CE.
(2) B~ LACD & AABC
B— IR
FIrlk 2 ACD=2 ABC+~LA.
[XI°% BE V-4 ~ ABC,
FrA 2 ABE= 2 EBC.

®©

LA LE:LECD—LEB@%LACD—

% LABC:% (£LACD- 2ABC)=
1 o
? / A=25°,

6.72°

11.3.1 LiafE

1.C 2B

35

eS|

5.C

11.3.2 LAFH R FEI

£ 1RAF !

1.C 2D 3.720° :
4% (DFERAULIERHMTFN |
(4-2)x180°=360°, |
BT L 2x°+140°+90°=360°. |

fi# 45 x=65. |
(A HATE N AT R (5-2)% |
180°=540°, |
T LA 3x°+120°+150°+90°=540°. |
f#15 x=60. |
5.106° 1

£ 2 iRAt |

1.C 24 |
3.f#.(1)F A AE//CD, |
Tl 2 D+ £ E=180°. 1

[ 4 T 1 & ABCDE H, A= .
100°, £ B=120°, |
fiFLL 2 C=(5-2)x180°-180°-100°-
120°=140°. |
(2) 131 J% ABCDE ¥ 4 ff Fl &
360°. !
3~4 FR !

— JEHEA !
1~5.DBBAC 1
—EEE !
11.9 !
13.2021
15.120° |
17.35° :

= BEs |
193EMR . =M ashmte i, 15

/ EAC=/B+/C. 1
H~sB=/C, |
Jif LA 2 EAC=2/B.
I AD “F-7351fi L EAC, :
Frll £ EAC=2 L EAD. !
JirLA 2 B= L EAD. !
Frll AD//BC. :

6~10.DCBBD

12.60°
14. 6%

16.60
18.£1-22=2/ A

2058 . XA 2 TR BN n.

M (n-2)x180°+360°=(12-2)x180°.

f#15% n=10.

B XAZMIE R ECK 10.

21.f%. (LA~ LECD= 2B+ LE,
£/ B=35°, / E=25°,

Frll 2 ECD=60°.

4 CE *¥-43 £ ACD,

FrLA 2 ACE= 2 ECD=60°.

Fr Ll £BAC= £ACE+ £LE=60°+
25°=85°,

(2)451%: £ BAC=£B+2 LE.

Bl [N~ 2BAC=2ACE+LE,
/ ECD=/ACE=/B+~E,

Frll 2 BAC=/B+ £ E+/E=/B+
2/E.

22.f#& . (1)150.

(2)H} 2 DAB [ F-4r4k 5 £ CBA
B2 FIUHIE N — 5 E,

Bt L LEAB:% / DAB, ZEBA=
1
- £ CBA.

Pk 2 E=180°-( L EAB+ZEBA)

:1800—%( / DAB+/ CBA)

:1800—%x150°

=105°.
23.f% . (1) N RTE RtAABC 1,
£ ACB=90°, 2 A=40°,
frLk 2~ CBD= £ ACB+ £ A=130°.
[X-} BE 42 2 CBD HO-F-4r4k,

Fr LA LCBE:%—LCBD:%O.

(2)IH} ~ ACB=90°, ~ CBE=65°,

Jiff A 2 CEB=90°-65°=25°,

[X*4 DF//BE,

Lk 2 F= 2 CEB=25°.

24, f#. (1) WM. B AD ¥4
/BAC,

fiff Lk 2~ BAD= 2 DAC.

X B & LEFD = ~DAC + LAEB,
/ ADC=/ABC+/BAD, /AEB=/ABC,

fif A ~ EFD= 2 ADC.

(2) (1) H BT AT

P . Fh AD 43 £ BAG,

firA 2 BAD= £ GAD.

KA 2 FAE= £ GAD,

ik 2 FAE= 2 BAD.

[A°} ~ EFD=/ AEB- ~FAE, ~ ADC=
/£ ABC-/BAD, £ AEB=/ABC,

fiff Lk 2 EFD= 2 ADC.

258 . (DWKEO,BAR 2L1=22+
/D=/B+/E+/D, £1+/A+/C=
180°,

L 2 A+ 2 B+ /. C+/ D+ £ E=180°.

WK Q, WM L1=22+LF=

/B+/E+/F, L1+ /A+/C+ /D=
360°,

Bl LA+ 2B+ £C+ 4D+ LE+
£ F=360°.

(3)1080°.

(% 254H)
26.f%.(1)122°.
(2) 4 CE 1 BE 435Il & ~ ACB
12 ABD AU,

it PA LBCE:% £ ACB, ~DBE=
%AABD.

XM A £ ABD & AABC H)—4>
M,
Fril ~ ABD=2 A+ / ACB.

A LA LDBE=%( / A+ /ACB)=

% / A+/ BCE.
[ 4 2 DBE #& ABEC —A~MA

fr I ~ BEC= ~ DBE - ~ BCE =

%LA+LBCE—ABCE=% AA=%.
(3) £BQC=90"5 LA,
E 3
2~3 kR
— JEESH
1~5.BCAAB 6~10.DDBCB
—E=m
11.60°
12. =ML HAREN
13. 1=
14.100°
15.2b-2¢
16.40°
175
18. 2?&1
= BEa
1988 . X XN =MAEHNE =LK
A xem.

WIE=MIL=JKR, 15 7-2<x<
7+2, Bl 5<x<9.

KR8 = KA S,

FrLL x=7.

Fr A =M R R 2+7+7=
16(cm).

20. 1 [ 1%,

21.f# . A A AD 2 AABC K F
ek, L BAC=66°,

g2l

HFE- NBIN\ERE

fif Ll ~ BAD= LCAD:% / BAC=
33,

R4 CE J2 AABC 15,

FrLL 2 BEC=90°.

J3 £ BCE=40°,

frLk 2 B=50°.

FrA £ ADC= £ BAD+ £ B=33°+50°=
83°.

22.f% . (1) XA IE LB A
A xe.

MBI, 15 x=4(180-x)+30.

fi#t45 x=150.

FIF LXK AN 1E 2 T8 B B4 A1 6 R
180°-150°=30°.

KRy 2B B 40 f AL 3600,

FIr LLX AN 2 1T H A A B
360+30=12.

Fr A ANIE 230 TE i 50k 12.

(2)E XA ZHIE RN n.

W j%%(n-z)xlsoozssoo.

f#45 n=9.

XA Z B B Eeh 9.

23.f&.(1V)IAN CE 4> L ACB,

frll £ ECB=2ACE.

A% 2 B=2FAC,

frd 2~ B+ £ ECB=/ FAC+ ~ ACE.

X A N LAEF = ~B + LECB,
/ AFE=/ FAC+~ACE,

Frll ~ AEF= £ AFE.

1

QK Eﬁ%,ﬂi‘ﬂLACB?AACB,

LACP:%LACQ.
fir LI £ ECP= £ ACE+ L ACP=
% (LACB+£ACQ)=90

FrL) 2 P+ 2 AEC=90°.

A% L AEF= £ AFE= L CFD,
ffL) 2 P+ 2 CFD=90°.
AN 2 P=26°,

R 1HA

—gpo- L
=90°~3- ZA.

A £ M=180°-( ~ MBC+ £ MCB)
:1800—(900—%— /A)

—gpo+ L
=90°+3- LA.

(2)4N:%—4A.

A CN 4 £ ACD,
A LNCD=% £ ACD.
[A°% BN -4 LABC,

B LNBC:% / ABC.
ﬁLNCD:LNuNBC:%—LACD:

1—( /ABC+ZA),

2
FJ?L‘MN%AA BC=%AA BC%LA.
BT 2 N:%— /A,

25.%@: (1)<.

(2) ABPC FiJE K< AABC RYJEIK.

B mE®, &K BP 22 AC F
M.
TEAABM 1, BP+PM<AB+AM;
TE APMC ', PC<PM+MC.
FIt LA BP +PM +PC <AB +AM +PM +
MC, Bl BP+PC<AB+AC.

fir L ABPC 1% Ji] & < AABC ¥
JaK.

(3)UiJE BP,P,C I JE < AABC
H R

B mEQ, s K BP,,CP,
ZF M.

1 (2)%1,BM+CM<AB+AC.

X PP<PM+PM,

JiLA BPA+P,P#P,C<BM+CM<A B+AC.

Fr VAU i B BPPC H K <

e DI A

é—LEBo.

5 /EBO = ~AOB + ~OAB,
/ EBD=/BAD+/D,

FriLA LEBD:;— LEBO:;— / OAB+
1 o1
5 *x90°=2>- L OAB+LD.

FrA £ D=45°,

(3)IEH . I AC,BC 43 51 °F 4>
/ BAO #1 2 ABO,

7 L LBAG:;— /BAO, / CBG=

%— £ ABO.

[A°~ 2 OAB+ 2 ABO=90°,

fifL) 2 BAG+ / CBG=45°,

A £AGO = £BAG + LABO =
/ BAG+2 /. CBG=/ CBG+45°,

Frll 2 CBG=2 AGO-45°.

A& £ AGO- £ BCF=45°,

FrLA 2 BCF= £ AGO-45°,

Frll 2 CBG=~BCF.

it A CF// OB.

FE 41
2 Wi
121 &%=f@kK

1.C
2.5 XN EF A1 NM,EG FINH;
SN £E 2N, LEGFFlZNHM.
3A
44
5% (DUER KA AABC2 AFED,
Bt £ A=2F.
FrLd AC//DF.
(2)Hl AABC2 AFED,
JirLIAB=EF.
firLl AB-BE=EF-BE.
fir A AE=BF.
[A°& AF=8,BE=2,
fif A AE+BF=8-2=6.

FFLL 2 CFD=64°. AABC E‘/‘J%{j\- R fiFLL AE=3.
24.ﬁ§:(1)LM:900+%— /A, FTLL AB=AE+BE=3+2=5.
6.60°
k. A8 BM,CM 4l J& £ ABC M 122 SR EZHHE (—)
5/ ACB B4k, PL P, £ 1Rt
ff Ll 2 MBC= L / ABC, 2 MCB= B c B ¢ 1B
2 @ @ 2D
A o .
1 sace, (L1, 3AC=DB
B £ MBC+ £ MCB==-( 2 ABC+ (2) LADB HIR/DASEETAL. 4X§E:g$AABC fianpert.
2 FErH:Ah BD AZAAOB H9MFI 2 OBE CB:CD ’
£ACB) B F-434% ,AC & £ BAO HIF434k, AC:AC’
:;—(180°—4A) AL ABAD:%— /BAO, ~DBE= Frl AABCx2 AADC(SSS).
F3IM



